Africa

2 times tables

2X 3= 6+2-=
2x0-= 18 = 2 =
2x10-= 2Xx9-=
Ox2-= 14 = 2 =
2+1= 2X9:=
2x1-= 7/ xX2-=
22 = 2= 2Xx8-=
HDx2:= 2 X4 =
2Xx6-= 12 -2 =
2Xx2-= 3x2-=




10 times tables

10x 6 = 10 x 12 =
5 x 10 = 10x 4 =
0 x 10 = 70+ 10 =
10x 3= 60 - 10 =
10x0= 9010 =
10x 1= 7 x 10 =
110 + 10-= 10x 8=
10x2-= 30+10 =
100+10 = 10x 5=
1x10-= 10x 9 =




5 times tables

Africa

Dx6-= 60 +5=
DX 2= 6x5 =
5 x 10 = 3x5-=
Ox5H = 35 +5=
1x5 = Dx9-=
B x1-= 7 x5 =
15+5= 30+5 =
BbxO0-= OxH =
55+ 5 = B x 8=
DxD = 5 x4-=




